Answer the following two essay questions each of which carry 20 marks.

Today, a new stereotype of kinship holds sway: a view that, however it may have been in the past, the research of the 1950s and 1960s was describing a high point of urban kinship that was near the end of its reign. Since then it is held, a number of changes have broken the old order: high levels of geographical mobility, redevelopment of the inner areas of Britain’s cities and industrial towns, changes in the family and marriage, and the increase in the number of wives going out to work.

But that is not the end of the story.  If one looks not at the proximity of relatives but at contacts between them, a different picture comes into focus. A number of recent surveys have shown that between about two-thirds and three-quarters of people of all ages still see one relative at least once a week.  Evidence from recent studies shows that relatives continue to be the main source of informal support and care.

Source Peter Wilmott 1988

a. Identify and explain some of the changes that have taken place in family structure over the last 50 years. [20 marks].

b. Using material from item B and elsewhere, assess the view that the extended family no longer plays a significant role in family life in modern Britain. [20 marks].

